3apnava I. ABTonpober

3a AeHb MallMHa Npoe3XaeT N KMINoMeTpoB. CKONMbKO AHEN HYXXHO,
4yTOObI MpPOEXxaTb MApPLUPYT AJIMHON M KNIOMETPOB?

BxoaHble AaHHblE N A\ EE
[lporpaMma nony4yaeTt Ha BXo4 4mcna n nu m (uenble, e N | S Y
NONOXUTENbHbIE). > ' iy (===

BbiXOoAHbIE AaHHbIE

BbiBeAWTe OTBET Ha 3ajady. n=int {input () | i—{
m=int (input ()) .
I_IpVIMepr if mSn==0": [
BXOAHble JaHHbIE e/
700 aysS=In/ /n
1 :
750 =e n=1int (1nput () )
days=m//n+1 |
BbIXOAHblE AaHHble  een g m=int (input ())
2 print (Tdays=t,days) days=(m+n-1)//n
BXOAHble AaHHbIE print ("days=",days)
/700
2100 (m+n-1)//n
BbIXOAHble AAaHHbIE
3
m=k*n+ost

1-bI cnocob

(k*n+ost)//n=k*n//n+ost//n= k + ost//n=k+0=k

2-01 crocob

( +n-1)//n=k*n//n+(ost+n-1)//n= k + (ost+n-1)//n=k+1



